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ERRATA 

Paper by V M Arutyunyan and S G Oganesyan 
"The stimulated Cherenkov effect" 
[Physics-Uspekhi, October 1994, 37 (10) 1005-1039] 

Page C o l u m n Equa t ion or line R e a d s Should read 
(up or down) (sometimes as pa r t of an equat ion) 

1005 left 5 up F a x (7-88 52) 15-10-57 F a x (7-8852) 15-10-87 

1007 left 21 down E = COAQ/C = COAQ/C 

right (8) 
t anh t 

x 
. . . t a n h - . . . 

T 

right (9) 
cosh t 

T 
. . . c o s h - . . . 

T 

1008 right 

r ight 

16 down 

22 down 

[27-

[35] 

- 30 ] [31-

[39] 

-35 ] 

1010 left (41) ct = q±Aq = qT&q 

left 1 up P+ = (p+hq+)...,p~ = (p-hq ) . . . p+(p+hq)..., p~ = (p-hq). 

1011 left (52) •••[ ca-(q... . . . [ ca-(p... 

1013 left (68) hx = p o i u { . . . c o s ( A ^ x ) . •} = p0fi{... ^ c o s ( A ^ x ) . . . } 

= p0fi{...cos(Aqxx). •} = p0p,{... £y(Aqxx)...} 

1015 right (93) ...(n2H2 + ... . . . (n2E2 + . . . 

1016 left 11 down The p ro j ec t i on . . . The p ro j ec t i ons . . . 

12 down is specif ied. . . are specif ied. . . 

left (100) 
[ '&)'••• [ • • ( * ) ' -

1018 right 15 down g(8, <p) d0d<p 

1020 right 13 down ..,K) Jfc"(. •;k) 

right (157) Jx = = . . . { . . . i ( l - « 2 ) + [. Jx = . . . { . . . i ( l - n 2 ) [ . . . 

1021 left 7 down [44] [51] 

1022 right 21 down 
V 

2 
v 2 

1023 right 24 down the axis a n d . . . the z axis a n d . . . 

1029 left 11 down = . . . = T • • • 

1030 right 9 up 
t anh t 

T 
. . . t anh - . . . 

T 

.cont inued. 



1296 Errata 

Continued.... 

Page Co lumn Equa t ion or line 
(up or down) 

R e a d s 
(sometimes as pa r t of an equat ion) 

Should read 

1031 left 11 down 
/ 2 \ - l / 2 

XQ — a < . . . \ \ — HI — j 
1032 left 13 up k, V X , V 

1033 right (288) ... Qxp(—3qxa)... . . . e x p ( - 2 ^ a ) . . . 

r ight (289) r = s2 - £ i . . . T = . . . ( e 2 - £ i ) . . . 

1034 right 6 down 
arcsin a + ... . a + ... 

. . . arcsin . 

right (302) < • - r = . . . ! [ . . . + . . . ] 

1035 left 17 up b-Po = .../(5... 

right (312) 
. . . . . . . 

right (312) 
. . . — n2Ui/u2 . . . . . . — n2(ui/u2) • • • 

1036 right 3 up [ 6 1 - 6 4 ] [ 6 7 - 7 0 ] 


